Resonance ‘ Jr myg Ty Amg ATy ‘ Omg 0Ty | 1 L
A(1405) 1/2_ 1405 50.5 +1.3 +2 1.3 210 0,1
A(1520) 3/2= 1519 16 1518 — 1520 15— 17 1 112 0,1,2
A(1600) /ot 1600 200 1570 — 1630 150 — 250 | 30 50 | 1 0,1
A(1670) /2= 1674 30 1670 — 1678 25— 35| 4 510 0,1
A(1690) 3/27 1690 70 1685 — 1695 50— 70 5 102 0,1,2
A(1800) /2= 1800 200 1750 — 1850 150 — 250 | 50 50 | 0 0,1
A(1810) 1ot 1790 110 1740 — 1840 50 — 170 | 50 60 | 1 0,1
A(1820) 5/27 1820 80 1815 - 1825 70— 90 5 103 1,2,3
A(1830) 5/2— 1825 90 1820 — 1830 60 — 120 5 3012 1,2,3
A(1890) 3/a7 1890 120 1870 — 1910 80 — 160 | 20 40 |1 0,1,2
A(2100) 7/2— 2100 200 2090 — 2110 100 — 250 | 10 100 | 4 2,3,4
A(2110) 5/2F 2090 250 2050 — 2130 200 — 300 | 40 5|13 1,2,3
A(2350) 9/2T 2350 150 2340 — 2370 100 — 250 | 20 100 | 5 3,4,5




